A&t FR19ESADEEAO

JN=| 110,265 (+22)
5 53,245 A(+15)
s 57,020 A(+7)
HEE 41,6515 (+9)

x () AFRETAL
XA 19F8H1HRE

Rl AOZX Frk19F8H1H
BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AA 18R Bk 18R ik 1R | R
JE\ERH] 437 0 196 1 241 -1 194 1
ELH] 229 0 101 0 128 0 92 -1
E=H] 158 1 72 2 86 -1 68 0
KEH] 49 0 13 0 36 0 27 0
WNEL] 9 0 2 0 7 0 4 0
] 89 0 38 0 51 0 22 0
Eayestil] 65 0 12 0 53 0 15 0
P L ] 523 1 253 0 270 1 296 2
FEH] 32 0 18 0 14 0 15 0
1 H] 221 -2 95 -1 126 -1 86 -1
= =[] 81 0 38 0 43 0 35 0
] 238 -2 111 -2 127 0 112 0
ZH] 135 0 61 1 74 -1 66 0
& SHT 543 -3 279 -3 264 0 258 0
FFrH] 77 0 39 0 38 0 38 0
1GRaH] 19 0 11 0 8 0 7 0
FASEH] 149 4 68 3 81 1 82 0
—&T 0 0 0 0 0 0 0 0
NET 107 1 51 0 56 1 50 2
T&ET 150 0 73 0 77 0 53 0
N&ET 81 0 37 0 44 0 35 0
NET 262 0 110 0 152 0 90 0
T&ET 245 -1 110 -1 135 0 121 0
1ok ] 379 -1 162 -1 217 0 192 -1
SiEH] 2,584 -12| 1,238 -5| 1,346 -7 1,002 -5
RFRE] 3,528 14 1,642 4 1,886 10 1,334 3
] 1,456 6 699 4 757 2 477 2
B a)=<tiil) 1,834 0 909 -4 925 4 721 1
FrERHE] 528 -3 240 -1 288 -2 226 -1
FHATHT 3,493 -9 1,771 -4 1,722 -5 1,503 1
LLAEHT 2,218 10 1,095 4 1,123 6 859 0




VEIRH] 1,942 6 977 1 965 5 497 1
Ll e 4,859 -13| 2,370 -5 2,489 -8 1,735 -1
JFEET R 2,072 -7 1,034 2 1,038 -9 772 1
EBZRHE] 9,277 20| 4,521 10| 4,756 10[ 3,345 9
=2kH] 3,498 -1 1,704 3| 1,794 -4 1,282 -3
[ EHET 955 8 472 7 483 1 380 4
EREFHIER — 2,414 -2| 1,143 -1 1,271 -1 784 -2
EREFHTERS) 1,799 3 871 2 928 1 615 2
EREFHT PG 7> 541 3 267 0 274 3 194 0
Er7KH] 5,628 -3 2,679 -8 2,949 5( 1,816 0
g lii) 122 -1 112 -1 10 0 109 -1
ERH] 56 -1 28 0 28 -1 32 -1
ETRE—TH 441 0 227 -1 214 1 192 1
ETREIZTH 317 6 136 1 181 5 147 3
ETREI=TH 1 0 1 0 0 0 1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 247 -3 112 -3 135 0 75 -2
rES 0 0 0 0 0 0 0 0
TEE—TH 461 0 203 1 258 -1 206 -2
TEEZTH 755 -3 348 -2 407 -1 349 0
TEE=TH 316 1 151 1 165 0 142 1
ERE—TH 495 -3 223 -3 272 0 225 -3
RERE—TH 770 -4 386 -2 384 -2 345 1
EE=TH 479 2 241 1 238 1 220 0
EMPRET—T B 339 -2 145 -2 194 0 150 -1
Gl = 555 -2 265 -1 290 -1 244 -1
JtFEILE—TH 184 1 76 0 108 1 84 1
JtFEILETZTH 439 0 199 1 240 -1 187 1
A —TH 336 1 178 2 158 -1 146 0
AR —TH 491 -1 245 -1 246 0 236 1
FEH—TH 128 -2 57 0 71 -2 55 -1
FZHZTH 326 -2 138 -1 188 -1 144 0
[REEIH 348 6 166 3 182 3 208 4
wFEE—TH 131 -2 63 -2 68 0 63 -2
RFEE =T H 305 2 124 3 181 -1 128 1
RAEI—TH 478 2 216 0 262 2 178 1
FREIZTH 325 2 144 1 181 1 137 1
RREI=TH 498 0 236 1 262 -1 234 1
FRAFETI T H 362 -1 164 -1 198 0 150 -1
HFETR T H 597 -10 258 -6 339 -4 223 -4
FuRE—TH 239 -1 122 0 117 -1 112 -1
FUEEI”TH 375 -2 205 -3 170 1 191 0
HIIEEE—TH 490 -4 225 -2 265 -2 228 -2




HIGEAI”TH 341 4 157 3 184 1 133 1
BRE—TH 140 -7 62 -3 78 -4 70 -3
BRI "TH 684 -2 314 0 370 -2 297 0
BRE=TH 571 -2 275 -1 296 -1 231 -2
BEEMTH 239 -6 113 -2 126 -4 98 -2
EEEATH 729 7 326 5 403 2 340 2
Kt —TH 279 -5 134 -3 145 -2 108 -1
XK —TH 228 -1 113 -1 115 0 90 -1
AFH—TH 134 0 58 0 76 0 62 0
AFHZTH 8 0 4 0 4 0 5 0
AFH=TH 153 0 75 -1 78 1 82 -1
TEEIA—TH 599 0 286 0 313 0 213 -1
TEsETFE T H 279 2 135 1 144 1 104 1
TEEAR=TH 130 8 71 6 59 2 56 1
TEEIFEM T B 473 0 229 0 244 0 179 0
TEEAATH 697 3 339 0 358 3 260 3
TEEIPRNT B 415 3 192 1 223 2 170 3
TEsETFEE T H 592 3 282 -1 310 4 267 0
TEEIFEA\TH 655 2 322 -1 333 3 265 1
TERER—TH 1,352 5 652 3 700 2 565 2
THREERTTH 397 -5 192 -2 205 -3 156 -1
TEREIR=TH 734 2 363 0 371 2 306 1
TEREIERIUT B 1,132 8 553 5 579 3 442 5
TAHREERATH 1,169 -1 698 -1 471 0 635 -1
T2REERANT B 663 -1 358 -1 305 0 332 0
TEZRERETH 1,423 2 687 3 736 -1 563 1
TERETERNTH 1,373 8 654 6 719 2 603 3
TEREIRAT B 563 -1 286 1 277 -2 115 -2
TEEIE—TH 68 1 40 1 28 0 50 1
TEEIEZTH 33 -4 21 -3 12 -1 29 -3
4N st 80,563 20 38,967 7| 41,596 13| 31,467 16
AEH]E 156 2 62 0 94 2 83 1
AEHTA 133 1 67 1 66 0 68 0
AEHTRE 14 0 4 0 10 0 10 0
AREHT/NBR 138 -1 62 0 76 -1 65 0
AEHKH 14 -1 5 0 9 -1 10 -1
AEHTEH 84 0 31 0 53 0 41 0
AEH R 14 0 7 0 7 0 7 0
AEHE /R 10 0 3 0 7 0 7 0
45 17 0 8 0 9 0 11 0
AEMXEEST 580 1 249 1 331 0 302 0
IN= 1 AVES] 39 -1 21 0 18 -1 25 -1
IN= 1RO 50 0 24 0 26 0 31 0




IN= I E0) 42 0 19 0 23 0 25 0
[1: SHTER S 41 0 21 0 20 0 27 0
[LERTEAR 76 -1 37 0 39 -1 42 -1
[LSHEHH 36 0 15 0 21 0 18 0
NG9 40 1 24 1 16 0 19 1
[LEE/NFS 52 0 30 0 22 0 25 0
FEH] 50 -1 25 -1 25 0 34 -1
[ S EEET 426 -2 216 0 210 -2 246 -2
SUEERSET 1,006 -1 465 1 541 -2 548 -2
e X T ] 1,435 6 674 4 761 2 491 1
T2 X T ] EH 776 -3 330 -2 446 -1 247 -2
&R R 1,297 3 620 1 677 2 427 1
e 2K T iz E P 1,129 2 546 1 583 1 368 1
e 1,463 -3 687 -1 776 -2 446 -1
e 1,170 4 557 0 613 4 406 -1
TN ] = AR 3,984 6 1,906 2| 2,078 4 1,293 0
TR X ERET 11,254 15| 5,320 5 5,934 10 3,678 =l
ERILIET_ESREESF 2,002 6 945 4 1,057 2 614 2
ERILIE] RSB 2,632 1 1,303 4 1,329 -3 850 2
ERILIETER/)N I 2,123 4 1,054 -2| 1,069 6 777 0
BRI BT PaR T 1,509 -1 745 1 764 -2 500 1
BRI LI BT iF 1,028 -1 491 0 537 -1 346 0
ERLLIET) 1R 2,303 -10] 1,130 -3 1,173 -7 783 -2
ERILIE] R T 5,845 -11] 2,825 -2 3,020 -91 2,088 -7
BRI [X &R 5T 17,442 -12| 8,493 2| 8,949 -14] 5,958 -4
a 5t 110,265 22| 53,245 15| 57,020 7| 41,651 9




